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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs)
and questions number 19 and 20 are Assertion-Reason based questions of
1 mark each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions in
each case study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 2 questions in Section C, 2 questions in
Section D and 3 questions in Section E.

(ix) Draw neat diagrams wherever required. Take T = 2—72 wherever required,
if not stated.

(x) Use of calculator is not allowed.

SECTION A

This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

20x1=20

1. If for any event E, P(E) + P(E) = q, then the value of q2—3 is:

A O B -2

C) 2 D) 1
2. If sin ©6 = cos 6 (0° < 6 < 90°), then the value of sec0.sin 0 is:

1
A = B) 2
J2

C) 0 D 1
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IfE 10 cm STE ATt I 6T Teh I19 §RT I o hg W AT HI0T 144° 8, Q1 =9 6
NEIEEE

(A) 2ncm (B) 4mcm

(C) bBmem (D) 6mcm

I ab = 32 8, STET @’ T b’ & IUrieh &, AT b T A & :
A 72 B) 510

(€ 219 (D) 512
afe TgUE q(x) = (p2 + 4)x2 + 65% + 4p o Yk Tsh 3B o FcohA &, I ‘p’ T HH
g

A -1 B 1

Cc) -2 (D) 2

y-318 o TR T TE& 5 TohrS ohl g T y-378 % oS AR el 118 Y 1 wefishr
2

(A) x=5 B) x=-5

C) y=5 D) y=-5

4004 % TS TUMEUST H, IHIST UMHEUS] o HTd(ehi 1 INTH & :
A 5

B) 4

© 3

D) 2
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3. If an arc of a circle of diameter 10 cm subtends an angle of 144° at the
centre of the circle, then the length of the arc is :

(A) 2mcem (B) 4ncm
(C) bBrem (D) 6rncem
4, If ab = 32, where ‘@’ and b’ are positive integers, then the value of b2P is :
(A) 72 B) 510
(C) 210 (D) 512

5. If one zero of the polynomial q(x) = (p2 + 4)x2 + 65x + 4p is reciprocal of
the other, then the value of ‘p’is :

A) -1 B 1
Cc -2 (D) 2
6. The equation of a line parallel to y-axis and at a distance of 5 units to the

right of y-axis is :

(A) x=5 B) x=-5
C) y=5 D) y=-5
7. The sum of the exponents of prime factors in the prime factorisation of
4004 is :
(A 5
(B) 4
© 3
(D) 2
30/2/3 # 5| Page s P.T.O.



8. 1T 30 I AT H § Ueh HEAT fHehTet W Ueh W 37T TEAT 37 Sl TRFT &
1
(A) 20
4
(B) 15
7
(C) 30
D) 0
9. dTE ARG H, PQ||BCR IR ‘;—g = % TAMAC =204 cm e, MAQ P AT R :
A
P Q
B C
(A) 28cm (B) 58cm
(C) 38cm (D) 48cm
10. EHIE x — y = 0 gRI Feud o8t W
(A)  x-378 & GHI &
(B) y-3T&7h Wi &
(C)  HeI-foig ¥ TSR &
(D) fig(3, 2)@TsaT
11. S5 (=5, 0), (5, 0) @1 (0, 4) SE B W &, @ 8 T
(A)  EHHI By
(B) wwfgsg Bt
(C) wHeg Bryst
(D) forwag st
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8. The probability of drawing an even prime number out of numbers from
1to 30is:
1
A il
(A) 30
4
B il
(B) 15
7
C !
(C) 30
D) 0
. AP 4
9. In the given figure, PQ||BC. If PB - 13 and AC = 204 cm, then the
length of AQ is :
A
F Q
B C
(A) 2-8cm (B) 58cm
(C) 38cm (D) 4 8cm
10. The line represented by the equation x —y =0 is:
(A) parallel to x-axis
(B) parallel to y-axis
(C) passing through the origin
(D) passing through the point (3, 2)
11. The points (- 5, 0), (5, 0) and (0, 4) are the vertices of a triangle which is
a/an :
(A) right-angled triangle
(B)  isosceles triangle
(C) equilateral triangle
(D)  scalene triangle
30/2/3 # 7| Page s P.T.O.



19 9 17

12. TR IE 5, —, =, =, ... FT109T9E & ;
4 2 4
(A) %
(B) %
(©) %
(D) %

13. & S pfd H, RS 99 % foig L W wovi@n & qu1 MN 39 &1 =9 € | Al
Z/NML=30°%, a1 L RLM g :

R
T
S
30°
M o) N
(A) 30° (B) 60°
(C) 90° (D)  120°
14. I % U AT o &1 BRI o a3 (5, — 2) TAT (5, 2) § | I hl AT Sl T =
(A) =2 B) +4
C 4 D) 2

15. FHfAREd § ¥ HH-H1 F97 7674 & 2
(A) < EEiTHT ST e THEY B ¥ |
(B) | &=l I T ol 4T U AR Hed HH&Y &4 ¢ |
(C) 31 EwaTg B Hod THET B4 & |
(D) 3 GHET PIsi T Gat s ST SATawde T2 € |
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12. The 10" term of the AP
5, 1—, 2, 1—, ... 18 :
4 2 4
11
A -
(A) 1
4
B il
(B) 11
13
C ke
(C) 1
4
D il
(D) 13
13. In the given figure, RS is the tangent to the circle at the point L. and MN
is the diameter. If £~ NML = 30°, then ~ RLM is :
R
M o) N
(A)  30° (B) 60°
(C)  90° (D) 120°
14. The coordinates of the end points of a diameter of a circle are (5, — 2) and
(5, 2). The length of the radius of the circle is :
(A =2 B) =4
C) 4 D) 2
15. Which of the following statements is incorrect ?
(A) Two congruent figures are always similar.
(B) A square and a rhombus of the same area are always similar.
(C) Two equilateral triangles are always similar.
(D) Two similar triangles need not be congruent.
30/2/3
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16. I8 SI-H-BIEI TEAT S T 01 O HE&AT & 3R 16, 20 TAT 50 TIF & IT 8, 7 ;

(A) 1200
(B) 100
(C) 3600
(D) 2400
17. 4 sin 30° tan 45° = %% 2 G Fram .

(A)
(B)
(C)
(D)

4
3
2
1

18. o fomma wfieror foreeh gt 7 o % €2

(A)
(B)
(C)
(D)

7x2-50x+7=0
7x2-50x+1=0
7x2 +50x-7=0
7x2 +50x—1=0

97 G&IT 19 31T 20 H(YFHYT T T HYIT I3 & | @ FI9 o0 70 & 598 T i
STI9H (A) A1 A %1 T (R) SR Hfehd Toha1 711 € | 39 J%1 o Hell I A1 1T 71 il
(A), (B), (C) 3R (D) H & TR FI1o1T |

(A)  NEwIE (A) 3R Teh (R) TET T & 3R ek (R), 1R (A) 3hi T et
FATE |
(B) @k (A) 3R @ (R) 3HI W&l &, Weq @ (R), SRk (A) 1 |t
ST T&T FAT & |
(C) AN (A) €&l ?, W o (R) T & |
(D) AT (A) TeTd &, T deh (R) el 8 |
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16. The least number which is a perfect square and is divisible by each of
16, 20 and 50, is :

(A)
(B)
(C)
(D)

17. If sin 30° tan 45° =

(A)
(B)
(C)
(D)

1200
100

3600
2400

sec 60° , then the value of k is :

DN W s

18. The quadratic equation whose roots are 7 and % is:

(A)
(B)
(C)
(D)

7x2-50x+7=0
7x2-50x+1=0
7x2 +50x -7 =0
7x2 +50x—1=0

Questions number 19 and 20 are Assertion and Reason based questions. Two

statements are given, one labelled as Assertion (A) and the other is labelled as

Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
30/2/3
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19. 3fYFIT(A): FHIRAA:5,1,-3, -7, ... W AEAN4E |
% (R) : A 2T < aq, ag, ag, ..., 2, P UG R d =a, —a,_; G I
frTSmaT e |

20. HWFHIT (A): Wash GHIH IH px + 3y + 59 = 0 AT 2x + 6y + 118 =0
N ® T Y 3w g BM, A p =128 |

T (R) - Ffq Raes FHIHT I px + 3y + 19 = 0 T 2x + 6y + 157 = 0
FITF AT eA R, A p= 18|
LCLCRC)
¥ GUS H 5 37fd -3 (VSA) TR & T4 8, 5974 Tedleh & 2 3% & | 5x2=10

21. (&) IS AR H, Tk T % HUL 1 AW ST T & ST T I o HISIEvE &
T T B, ST&T o T hg O T £ AOB = 90°2 | i AO = OB = 42 cm
2, 1 o o 6 FHL NT hT TIATT JTd shITSTT |

aroraT

(@) 9 TE IR H, 5 cm BsAT aTel 99 o 94 BSa@vel i Srifhd R T &,
ST shg 9T 85°, 50° qAT 95° & IV 4T & & | SHRIfhd & T % J1d
HRTI [ = % AT i)
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19. Assertion (A) : Common difference of the AP:5,1,—-3,-7, ... is 4.
Reason (R): Common difference of the AP : a,, a,, ag, ..., a,, is obtained

byd=a,—a_,_;.

20. Assertion (A) : The pair of linear equations px + 3y + 59 = 0 and
2x + 6y + 118 = 0 will have infinitely many solutions if
p=1.

Reason (R): If the pair of linear equations px + 3y + 19 = 0 and
2x + 6y + 157 = 0 has a unique solution, then p # 1.

SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks
each. 5x2=10

21. (a) In the given figure, the shape of the top of a table is that of a sector
of a circle with centre O and £ AOB = 90°. If AO = OB = 42 cm,
then find the perimeter of the top of the table.

(A

OR
(b)  In the given figure, three sectors of a circle of radius 5 cm, making
angles 35°, 50° and 95° at the centre are shaded. Find the area of
the shaded region. [Use © = 27—2]

30/2/3 # 13| Page s P.T.O.



22. 10 cm PISAT ATA T 1 o Th A1 AB o foig A W XAY Th Tq9i-ten =i T # |
fsig A ¥ 16 om %1 gl WX o I SfaT CD =l SIS ST I |
. TX
/ 10 cm
BQ 0 A
D
T¥
23. 3 p AAT q, IGHE p(y) = 21y%2 —y — 2 F FF &, Al (1 — p) . (1 — q) T AA J1@
It |
. 2
24, aﬁtanA=ﬁ%;aﬁAwmjaﬁW%,ﬁ%mmmsﬁﬁm
1+ cos“A
. PS PT
25. () ﬁﬁaﬁ:ﬁrﬁ,ﬁzT—RWLPST:LPRQ%I%T&’W%APQR
Teh HTSETE Py 2 |
I
S T
Q R
arera
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22. At point A on the diameter AB of a circle of radius 10 cm, tangent XAY is
drawn to the circle. Find the length of the chord CD parallel to XY at a
distance of 16 cm from A.

TX
C
/ 10 cm
B Q 0 A
D
T
v

23. If p and q are zeroes of the polynomial p(y) = 21y2 — y — 2, then find the
value of (1 -p).(1-q).

24. If tan A =43 ; where A is an acute angle, then find the value of

sin® A
1+cos? A
: PS PT
25. (a) In the given figure, — =—— and £ PST = Z PRQ. Prove that
SQ TR
A PQR is an isosceles triangle.
P
S di
Q R
OR
30/2/3 # 15| Page s P.T.O.



(@) 975 3R H, A ABE = A ACD. fg IS f A ADE ~ A ABC.

A

LCLCRI

T4 QIS H 6 TY-IHIT (SA) YohR & J97 8, IS4 Jeioh & 3 3 6 | 6x3=18

26. (%h) f@@’?ﬁﬁ?% \/secz 0 + cosec® O = tan 0 + cot 0

HAAT

@) 3T cosec 0 =x+ i %,ﬁmﬁm%

cosec O + cot O = 2x HAAAT i
2x

27.  UH Ot 3-37h UTeha AT T AR F1d Shiferg, ST 11 8 e £ |

28. @a@%aﬁaﬁmgﬁsﬁm 10 cm 2 | 9Td: 5 a.m. ¥ 8 a.m. & o9 u<l &l =5
T G ST UeId T Broaevs o1 &=t 1 shifs | 3Tef Fsargue 1 &he i J1d

i |

29. () g HiS fop forelt o o alerd Tiae g Tk e BT 8 |

HAAT
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(b)  In the given figure, A ABE = A ACD. Prove that A ADE ~ A ABC.

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. (a) Prove that : \/sec? 0+ cosec? 0 =tan 0 + cot 0

OR

(b) If cosecb=x+ 1 , prove that cosec 6 + cot 6 = 2x or i
4x 2x

27. Find the sum of all 3-digit natural numbers which are divisible by 11.

28. The length of the hour hand of a clock is 10 cm. Find the area of the
minor sector swept by the hour hand of the clock between 5 a.m. to 8 a.m.
Also, find the area of the major sector.

29. (a) Prove that the parallelogram circumscribing a circle is a rhombus.

OR

30/2/3 # 17| Page s P.T.O.



(@) forg shifore fon ferelt amer foig @ forelt o 0@ @it 71¢ <1 wqwi-venedi o sft= 6
=101, T fefgatl il T aTel T@mavg R shs W ARG shioT 1 Tk Bl
gl

30. 3 feigati A3, 4) T B(k, 6) I fieiM a1el T@r@vg 1 wed-fog P(x, y) & @
X +y—10 =02, d k T 7 J1d I |

31. faghvufe V3 o smfagdea? |

Qus v

39 @UE H 4 13909 (LA) SR & I3 8, S8 Idh & 5 3iF & | 4x5=20

32.  Ffe foreft iyt sht Ueh ST o WAiaL 3721 &1 YSTT3TT okl Tort-fort feigatt ot wideese e
o fore we Y @i ST, i firg, AT o6 3 o1 @1 qeiTd w & oteTa ° fefsa &

STt % 1w & S sty &, fug A fr 2N - AN oty M| oB e
N MB ND
LN||CD®I
B
M
A L C
N
D
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30.

31.

(b)  Prove that the angle between the two tangents drawn from an
external point to a circle is supplementary to the angle subtended

by the line-segment joining the points of contact at the centre.

If the mid-point of the line segment joining the points A(3, 4) and B(k, 6)
is P(x, y) and x + y — 10 = 0, then find the value of k.

Prove that \/§ 1s an irrational number.

SECTION D

This section has 4 Long Answer (LA) type questions carrying 8§ marks each.  4x5=20

32. Prove that a line drawn parallel to one side of a triangle to intersect the
other two sides in distinct points divides the other two sides in the same
ratio. Hence, in the figure given below, prove that AM = AN where

MB ND
LM || CB and LN || CD.

B

M

A L C

N

D
30/2/3 # 19| Page s P.T.O.



33. (F) U AT3CEISH o SHI AR 31 &S OHZ § I 1 & | ATERTIH o MY § 3@ T
T ST STETSI oh 3799 hiT ShHST: 60° AT 45° 2 | Ife ST ST&TSI o S shl

0 100 [1 T/§\/§J m 2, d1 A1E2RTeH sl SHaTs J1d hifsrT |

AT

(@) U SgHISTe Wad o MY € T 8 m Il WA oh TN AT STER o STETHA T
SEHYT: 30° T 45° § | SEHISTeT Wel =hl SelTS T &1 STe1 o sft=r sht gt J1q

It |

34. TmfaRaa sAfergi s Area qorm sigeter F1d Hiferg :
eyl SRRl

4-8 2

8—12 12

12-16 15

16 — 20 25

20 — 24 18

24 — 28 12

28 — 32 13

32— 36 3

85. (%) Ueh 9= 1 3191 Uk BT 3 A © | A 331 71 G IHT | 2 Shig fozam s,
T ITH B 191 o 7ot 31 =T At 1;—0%|H§fﬁ4=rslﬁaﬁﬁm

HAAAT

(@) T @S 360 km shi gl THEAM =Tl ¥ =efdl @ | AfS gheh! =1 5 km/h
31fereh Bielt, 1 36 ST gl 2l 77 T H 48 e 3 @ | WrTigh <6t 9t =Tl

J1a hifse |
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33. (a) Two ships are sailing in the sea on either side of a lighthouse. The
angles of depression to the two ships as observed from the top of
the lighthouse are 60° and 45°, respectively. If the distance
between the ships is 100 (1 Dgﬁj m, then find the height of the
lighthouse.

OR
(b)  The angles of depression of the top and the bottom of an 8 m tall
building from the top of another multistoried building are 30° and
45°, respectively. Find the height of the multistoried building and
the distance between the two buildings.
34. Find the Mean and Mode of the following data :
Class Frequency
4-8 2
8 —12 12
12-16 15
16 — 20 25
20-24 18
24 — 28 12
28 — 32 13
32 -36 3

35. (a) The numerator of a fraction is 3 less than its denominator. If 2 is
added to both numerator and denominator, then the sum of the
new fraction and the original fraction is 129—0. Find the original
fraction.

OR
(b) A train travelling at a uniform speed for 360 km would have taken
48 minutes less to travel the same distance if its speed were
5 km/h more. Find the original speed of the train.
30/2/3 # 21| Page s P.T.O.
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s g
G TEUS H 3 YR 7T SMTRA G & (T8 Tk F 4 3HF 3 | 3x4=12
Th{UT 3TeTIA - 1
36. U FIA 9% A Uh T sl o o1q weh foriy Tfeitr o oRme she =t St ot |

I8 A ¥ AFS! & A SRR HS! I ITH T M o Y 38 T SiedT 8 T
ol oX a1 BIe SR SfTa § Uk ST el Tl 8 | S hl I8 AT U g 321 o

iR SO TS U SIS qAT YR oh foTT 16T HTLT 375 Teh ™ | ST ST HehlT T |

\ 1

2:1 em () (D 7Tcm @ )21 em

<— 5 cm l 5cm—>

— 12 tan ————>

AN DN

I SRR W (Zhe) 2l TTFITE 12 cm T AT 7 cm & STelfeh T Bl SA-IHT
T T ASTS 5 cm AT S 2-1 cm # |

ST T o SR 9, Treferfiad st o S e

1) &< dSHTRR 9T T ARG JTd T | 1
(i) &S SR T T F5h THIT &%l J1d I | 1
(iii) (%) S SITHIHR WA % HTFAT Hl ST BIS STTHR AT 6 Hel ST &
SFUT T I | 2
arqaT

(@) &I T ST SIS A-TRR | o d5h I &G Rl AMHS JA ST | 2
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SECTION E
This section has 3 case study based questions carrying 4 marks each. 3Ix4=12

Case Study -1

36. A skilled carpenter decided to craft a special rolling pin for the local
baker. He carefully joined three cylindrical pieces of wood — two small
ones on the ends and one larger in the centre to create a perfect tool. The
baker loved the rolling pin, as it rolled out the smoothest dough for
breads and pastries.

1
r

R Al

P

sten__0)7em 0 Dpeiem

<— 5 cm l 5 cm—

«— l12cm ——>

The length of the bigger cylindrical part is 12 cm and diameter is 7 cm
and the length of each smaller cylindrical part is 5 cm and diameter is
2-1 cm.
Based on the above information, answer the following questions :
(1) Find the volume of the bigger cylindrical part. 1
(ii)  Find the curved surface area of the bigger cylindrical part. 1
(iii) (a)  Find the ratio of the volume of the bigger cylindrical part to
the total volume of the two smaller (identical) cylindrical

parts. 2
OR
(b) Find the sum of the curved surface areas of the two identical
smaller cylindrical parts. 2
30/2/3 # 23| Page O P.T.O.
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37.

TR I0T 37U — 2

T TheT A Tt <l it 39T o T Uk Woo |isahideh Shishy 1 TS
FLTET & | HAfRRT Al gl o foTu, Thel 4 T qreiRr | &t R AS R 0

S ST AT TS | T i T G Toh Teeh el T ToRTraT T 50 qT Jeieh ST T
foRTT % 200 2 | The o FREAT T HSAT o BRI W e T 30,000 © FRT | |19
fortTe o &t 1€ wat (it ST HiT) il e 6T 300 2 |

——

Ffe Tt o FRAAT a7y WSt fortre o AT, At Twforfiad st o S i
(i) &S FEATSl ol S e o fore Waer wefisror 3 fetfaT |

() () T g TR ot 77E FHIEAT T AN okl HEAT {1 shiST |
T

(@) I Thet 300 WaT (FHTEAT IR i) W FA T 27,000 T HEAT =TT 2,
Al TR T AT ST Eehet STt ST ot it ol € 91d hifSi |

(iii)  Ffe HRFAT g o 7 <ff S, |1 % 30,000 # T ox Aferepam o1 oSt <t
ST Gl & 2

30/2/3

# 24| Page o



Case Study - 2

37. A school is organizing a grand cultural event to show the talent of its
students. To accommodate the guests, the school plans to rent chairs and
tables from a local supplier. It finds that rent for each chair is ¥ 50 and for
each table is ¥ 200. The school spends ¥ 30,000 for renting the chairs and
tables. Also, the total number of items (chairs and tables) rented are 300.

If the school rents X’ chairs and ‘y’ tables, answer the following questions :

(1) Write down the pair of linear equations representing the given
information. 1

(ii1) (a) Find the number of chairs and number of tables rented by
the school. 2

OR

(b)  If the school wants to spend a maximum of ¥ 27,000 on
300 items (tables and chairs), then find the number of chairs

and tables it can rent. 2
(111) What is maximum number of tables that can be rented in ¥ 30,000
if no chairs are rented ? 1
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38.

ThI0T 3T - 3

B T fohehe I o TTT wTrmITedt (GTeh! =) & | 8o T TeF ST H e & i W
10 ¥ 74 d hl G&ATE Jifrd & | &0 89 9 Ugd, 98 39 SIK § ° Ueh hie {Jehreld]
2 | Ffe feprer T B W Uk W HeAt sifend @, b A9 S St @ | 3fe ifeRa @
T 8 qAT 5 T ST &, A1 39 Tk ¢ 3l & Sfiqd] ® | I(S I8 T 30 W 7 Tk formm
TEAT ®, A A9 Y IaT O Siiadt & 3R Al I AT 50 TUT 74 o s T ST
TET e, a1 AW BRAT 2 |

o

TS TS UEA T I HeATeAdT 2, Al TR Jei o I AT :
(1)  UGA g FRTct 71T TS W Teh TH HEAT T 1 TTRIewRdT 31 7 2
(i) T g FRTe TTT TS W 30 | ¥ Uk Toaw TEAT HTH shl TTRIHAT 1 2 2

(iii) (F) UG FRI FhT T HIE W 50 3R 74 o Sl hl Toh TS TAT A
Sl ITRISRAT T & 2

HAAT

(@) TEA g ehTet 1T 5 | 9IS Uk EH HEAT ATAT IS 3T h1 SR
FITE?
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38.

Case Study -3

Rahul is a lucky charm for his cricket team. He has a jar of cards with
numbers from 10 to 74. Before each match, he draws a card from the jar.
If the card bears an even number, the team wins. If the number is even
and divisible by 5, they win by a big margin. If the number is an odd
number less than 30, they win by a small margin. And if the number is a

prime number between 50 and 74, they lose.

Answer the following questions if Rahul draws a card today :

(1) What is the probability that Rahul draws a card with an even
number ?

(i1) What is the probability that Rahul draws a card with an odd
number less than 30 ?

(iii) (a) What is the probability that Rahul draws a card with a
prime number between 50 and 74 ?
OR

(b)  What is the probability that Rahul draws a card with an
even number divisible by 5 ?
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